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Pdditionel Revieaw
6. Oral tests are conducted by three examiners A, B and C separately. The results of the

examination are classified as Credit, Pass or Fail. A Xz test is applied to the data collected in
order to test whether or not the examiners differ in their standard of awards.

(a)  State the null hypothesis. Hy, for this data.
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(b)  Write down the number of degrees of freedom.
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Of the 135 students who 51t the exam, 30 get Credit and 45 are tested by examiner A.

(¢)  Calculate the expected number of students who get a Credit and are tested by examiner A.

/30 45) \.

See. aé'Dv'e,

Using a 3% level of significance, the p-value is found to be 0.0327 correct to 3 s.f.

(d)  State whether Hj should be accepted. Justify your answer.
(Total 6 marks)
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